
  

OCTOBER 2013  U/ID 32358/UCMH 

Time : Three hours Maximum : 80 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

Each question carries 2 marks. 

1. Define complete graph. 

 Áøµ¯Ö : •Êø©¯õÚ ÷Põmk¸. 

2. Prove that the partition ( )2,3,4,5,6,7=P  is not 

graphic. 

 ( )2,3,4,5,6,7=P  GßÖ ¤›¨¦ ÷Põmk¸øÁ 

E¸ÁõUPõx GÚ {ÖÄP. 

3. Define a Hamiltonion graph. 

 íõªÀ÷hõÛ¯ß ÷Põmk¸ Áøµ¯Ö. 

4. Write the adjacency matrix of the graph given 

below.  

   

 ÷©÷» öPõkUP¨£mkÒÍ ÷Põmk¸Âß Asø© 
Aoø¯ GÊxP. 
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5. Define : a walk. 

 Áøµ¯Ö : |øh. 

6. Define a planar graph. 

 uÍ÷Põmk¸øÁ Áøµ¯Ö. 

7. Define logical operators. 

 u¸UP ö\¯¼ Áøµ¯Ö. 

8. Define the  scanf ( ) function. 

 Áøµ¯Ö :  scanf ( )  \õº¦. 

9. Define an array. 

 Ao •øÓø¯ Áøµ¯Ö. 

10. Define : recursion. 

 Áøµ¯Ö : «Ò Á¸ \õº¦ . 

11. Define structure. 

 Áøµ¯Ö : Pmhø©¨¦. 

12. Define : closing a file. 

 Áøµ¯Ö : ÷Põ¨¤øÚ ‰kuÀ. 
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SECTION B — (5 × 4 = 20 marks) 

Answer any FIVE questions. 

Each question carries 4 marks. 

13. With usual notation prove that ∆≤≤
p

q2δ . 

 ÁÇUP©õÚ SÔ±kPÐhß ∆≤≤
p

q2δ  GÚ {ÖÄP. 

14. Prove that for any graph δλ ≤≤KG , . 

 G¢u J¸ ÷PõmkÖ G  °¾® δλ ≤≤K  GÚUPõmkP. 

15. Prove that a graph is hamiltonian if its closure is 

hamiltonian. 

 J¸ ÷Põmk¸Âß AøhÄ íõªÀ÷hõÛ¯ÚõP 

C¸¢uõÀ ©mk÷© AU÷Põmk¸ íõªÀ÷hõÛ¯ß 

GÚ {ÖÄP. 

16. Prove that every connected graph has a spanning 

tree. 

 G¢uöÁõ¸ öuõhº, ÷Põmk¸ G  ®  £hº©µzøuU 

öPõsi¸US® GÚ {¹¤. 

17. Explain the syntax of if-statement with example. 

 IF – TØÔß C»UPnzøu Euõµnzxhß ÂÁ›UP. 
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18. Explain pointer variable. 

 _mi ©õÔø¯ ÂÁ›UPÄ®. 

19. Explain the various modes of file open. 

 ÷Põ¨¦ vÓ¨£uØPõÚ £À÷ÁÖ •øÓPøÍ ÂÁ›. 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

Each question carries 10 marks. 

20. Prove that the maximum number of lines among 

all p-point graph with no triangles is 








4

2p
. 

 p– ¦ÒÎPÒ öPõsh •U÷Põn® CÀ»õu JÆöÁõ¸ 

÷Põmk¸Â¾® 








4

2p
 ÷PõkPÐUS ÷©À C¸UPõx 

GÚ {ÖÄP.  

21. Prove that a graph G  with at least two points is 

bipartile if and only if its cycles are of even length. 

 SøÓ¢ux 2 ¦ÒÎPøÍU öPõsh ÷Põmk¸ G  Gß£x 
C¸ TÖ ÷Põmk¸ÁõP C¸UP ÷uøÁ¯õÚx® 
÷£õx©õÚx©õÚ {£¢uøÚ G  À EÒÍ AøÚzx 
_ØÖPÐ® Cµmøh¯õP C¸US® GÚ {ÖÄP. 

[P.T.O.]
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22. Let G  be a ( )qp,  graph. Prove the following 

statements are equivalent 

 (a) G  is a tree 

 (b) Every two points of G  are jointed by a 

unique path 

 (c) G  is connected and 1+= qp  

 (d) G  is acyclic and 1+= qp . 

 G  Gß£x J¸ ( )qp,  ÷PõmkÖ GßP. RÌUPsh 

ÁõUQ¯[PÒ JßÖUöPõßÖ \©©õÚøÁ GÚ {¹¤. 

 (A) G  J¸ ©µÄ¸ 

 (B) G  ß G¢u Cµsk ¦ÒÎPøÍ²® J÷µö¯õ¸ 
£õøu¯õÀ ©mk÷© CønUP •i²® 

 (C) G  Gß£x öuõhº ÷Põmk¸ ©ØÖ® 1+= qp  

 (D) G  Gß£x _ØÓØÓx ©ØÖ® 1+= qp . 

23. Write a C program to add two matrices. 

 Jzu C¸  AoPÎß TkuÀ Põn  C ö©õÈ°À  
vmh® JßøÓ GÊxP. 

24. Write a C program for sortingn  numbers. 

 n   GsPøÍ Á›ø\¨£kzx®. C  ö©õÈ vmh® 
JßøÓ GÊxP. 
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25. Explain structure and Union with suitable 

example. 

 Pmhø©¨¦ ©ØÖ® ÷\ºUøP uµÂÚ[PøÍ uS¢u 
Euõµn[PÐhß ÂÁ›UPÄ®. 

————— 


